MATH 1010 TEST 3 Réuview ey

Lo HAX'y +Hexy’ a? 1

| 7S - 6 g §
ey ey & a0 GLF

_ GCF =23=¢

Ay )-xlyry) = {( ‘/+‘f>(9-—)()] Gef

S5 XY Hlex 17, 42p= -

| ACTR B
FAXCY +4) 4 7(yry)- G/?Cbpi{/(;_

=/Cv+H)(L1X+ )/
4. x> JQ(/“QQH‘QJ B/‘rc%/%;ef (BF)

L l6y3“f0~f+3‘iy= | . GCF, Bf
=y (16y~H0y+35)" Y(‘ft/-a)(ffy—g) :‘-[y("ly—f;)/

ot iy = Jodliye ¥
6. A0 Letlu= X U seBsrirmon,
THeV 90" =90 =0 = (3U=5X3u+2) B, Bk SB STy,

= E § s xan))

-

7. 10(a+6) +3tare) +12 s Let Uu=are  (sup GO, BR
MV OW P U =354 Tut6 ) 5’4;‘:*'%@\
:;(‘Su +F)u+ 3) —:.)Cb‘(a%) f-;z)((an) +—3> L |

= 3( Ba+xo +;)[6f+6+3) = 3 sari)(at+4)




2 .
(2, C SX R ) _.36 3 LET (4= g"ﬂ"\( . U .‘»Uﬁ", Dr FF&QLJW'E of SQuAge
THen,  U-36 = (U+te Y= -¢) Bhck su

/( SXtyt4 M
SOM

q. asx*+/6 {Pf%me{ == of Squapts & Mim¢

(1e pocesg, Phcrag)
)&Lrooo
OﬁHZ TS

= X/HO/) X /%W SOM of CuBEs
‘5(54

30 ?fz\ DFF EREA/ L o€
€<

corp
1. 343x%° -0 = (7X0) ch + 70X llod
o &“x / o

" C 1* OPP (sww AV
@/J ) {\/3" e, ) jfl'

. A

| A X +1x -0 =0O —

(X+1Ix=5) = O FACTZR
X+13=0 X-5=0 &R FATR FAROPERTY

E(-‘f -1 xf—g (Z“;’)
[?) ,B;LX +f€i ’61 ({f 7 ‘
= =X (LeAR FRA
b2 9 ® FRRACTL 3
)( + 18 = CIX p— O
N- TR ¢
X -qx+1g =0
(x-6Yx-3)=0  TACIR

k=60 x-3=0  &F. PRoPERYY

F=C, x=3)




Y, L@ngal’l/\ s B longer than widh
: 36\’4—%

—

Areats 94

_ P TP
A - % = ¢4 =y(wf-g)W =B =7 Wiew

V_\ﬂf’gffﬁwe wdh,

= ([/U + 14 Xbu e ) =0 2 wW-H, G Ts Aeodngless

So w=bAt tL-wig= 1 EM by 1454 |

5. x= leagthh of shorter feg. Loagef‘/pﬁi 5 24 metes

Hn/po}t"dff/ee 1 G more f’bm fw.ffe mghw‘ﬁ‘c 5Q /1://0 £ QX-H:,

M

Py tragorean, Fheorem

X T6 )(34 (9'4)1? (2x+¢)?
2 BT76 = AN 43
3( =><)('L*-‘37(: -X -57¢

0 = 2X° 434K =540 =
(X7 X -190) = O
3 (¥+1g X x—10) =0

37D X =-1% X =10

N o LO Mefess :-50104&)‘93}
AMOT possy (. &
(X s destaace)




L. DOMAIL/ oF A PATIDM AL FUCTION = DOMT DiviDE By ZEK0.

e L A - D ST w

f- X-6X — 16 O $2Yx-8) #0 - X% g . gx)x#—z, 1‘493

7. SmMpLify
A8 e -
2X ) #Tj]

(6. ‘5@;(22\ Jax-94 _ Frxyr J?Wj)rz/ :
Y N 220 “se B

T Fig L XYex XHIXF1E jﬁ)@, C(,haxigﬁ-l }

I -

a7 o Zogo | X7 X % X

=~ O erx) (Xt Xa+3) _ | x+i0
O e3) X (D) EX -

N2+ 6.7 -2, 03 3346 75
X lx 7 T 7y 7% [77x

Mli_’)mi-ji). '!-BWI: _,_8’7? +3

3l (M) oR)  Gm-3) - (Yemeg) G ML)

e i FISM + 5 ) m+ XM~ Y M+8)
(7Y~ I‘{" (M +8)Ymt7) G c
) Em¥Ym +35

T XMt s)




|

[

:v\

o's ] (5_,,3 L ) %‘ . _4x-ha _ 2(2k-21)

;\—f— A I 1 ) 'g 361y

_ ﬁ 2 5
23 —X‘i 4 7 ] e AW H
niE g 1679 (e

3

X

U\\J

) m/
. 4 +()) gt [ray ¢ 40
- ' i
Eg j “&VX: Q\/
Y
25 —Rx-iOX <X’ - —rx® 10X _ 4y
o o TV —2x"
— = DiviDing. By movomby. (| )
\_:%X +5 ,‘*'—ﬁ SEPAPATL THE FRACTIW Like
' THIs
aX + % Ltk
3 6x*40X ~H2 [ HC—g1x ~ 7 G- Piviscads
—x> Fox T4X FOR Druipy . B/
_&Q_L-- —-—--XR rOX =7 POL{UOM%L_O
N K FK AT ATeeas e
O

REMemBer. Mace



\ =
! 1»;35 _ y—;)xé*’ ) 5 X3 #X = XX

> aX¥3=x X F 0=X-M#3 =0
sy 3 -2 13 O 3Xx~ ) =0

BELBE o o s <0 g

Problem, o it is extraneccs
gq -2 i s X? [ )(193 Xl
cX —23X F132F0 = F hea F 13 =0

> | —DX +32X =0 = (| ~bx) IO =0

___> |-ix =0 ,""”.A’;O
== 13X = /X
= o =
& =53 oy
0PV _ PVTE  oppe reRY
T & |




3l (ri MEs W

) ?'f 30 e
&Qu/‘ra-s 2 Times TH’EE\REUPROCAL ogz 313\

| 2y |
%;% 7 024X 5 x=60-
PLSTY! >Y

3o, Pﬁmler— Gheufﬁ 4—95:5&4*f & heors
MT ,_L T__L jHTEe
6 8

IR e—

= Ty o =3y »
7 C

33 Dogr soT=B) et x=spead of cpeli

__72)9?1 7_1-1”_"7"' T b oS

— . Time To RETURW 15 LOAGER,
I !me,m — hm%—nﬁﬁ} - l ZO %ﬁwcﬁw@ [ Lotfs
EAve = = Tos
D-ro = DR(:T . l D sz
e Ruy (T=%
T© Rey R
|7 %22 _ )«
X X
I7 =20 —X

-3 22
=X 3 ><>/‘§ W‘PL\‘

= -

3



